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1 100kN/m##8% % 1.00{0.00 ~ 2.90 146.01|3m%x#B2 5 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.65 ~ 28.26 146.01|3m%x#B25 =l ~ - - =
s 1.00{2.90 ~ 10.69 100.00f Z=hki4t | 0.00 ~ 10.69| 2.95 15.77 s 1.00f 5.00 ~ 10.65 100.00f Zhl4t+ | 5.00 ~ 28.26 2.95 15.77
9 100kN/m##8 %% 1.00{0.00 ~ 1.35 120.53|3m%*x#B2 5% ol ~ = = —| 100kN/mM%#8Z % 1.00{ 10.88 ~ 16.00 120.53| 3m%x{B2 5 =l ~ - - =
s 1.00{1.35 ~ 9.14 100.00f Zhkl9t |0.00 ~ 9.14| 2.24 12.01 s 1.00f 5.00 ~ 10.88 100.00f Zhl4t | 5.00 ~ 16.00f 2.24 12.01
3 100kN/m##8 %% 1.00{ 0.00 ~ 225 134.97|3m%x#B25 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 11.11 ~ 20.00 134.97|3m%{B25 =l ~ - - =
s 1.00{2.25 ~ 10.03 100.00f Z=hki4t+ | 0.00 ~ 10.03] 2.93 15.69 s 1.00f 500 ~ 11.11 100.00f Z=hl4t+ | 5.00 ~ 20.00f 2.93 15.69
4 100kN/m##8 %% 1.00{ 0.00 ~ 237 137.01|3m%# %% 0.00 ~ 0.12 3.08 16.50| 100kN/m#%#8 2% 1.00{ 12.14 ~ 23.11 137.01| 3m%# % %] 20.00 ~ 23.11| 3.08 16.50
s 1.00{ 2.37 ~ 10.16 100.00f Zhl4t | 0.12 ~ 10.16] 3.00 16.05 s 1.00f 500 ~ 12.14 100.00f Z=hkl4t+ | 5.00 ~ 20.00f 3.00 16.05
5 100kN/m##8 %% 1.00{0.00 ~ 2.18 133.83|3m%#%%| 0.00 ~ 0.98| 3.71 19.84| 100kN/m#%#B 2% 1.00{ 1451 ~ 27.90 133.83| 3m%#€% 5| 20.00 ~ 27.90( 3.71 19.84
s 1.00]2.18 ~ 9.96 100.00f ZhLl9t | 0.98 ~ 9.96] 3.00 16.05 s 1.00f 5.00 ~ 1451 100.00f Z=hkl4t+ | 5.00 ~ 20.00f 3.00 16.05
6 100kN/m##8 %% 1.00{ 0.00 ~ 3.02 148.04| 3m%x# %% 0.00 ~ 0.15[ 3.08 16.50| 100kN/m#%#8 2% 1.00{ 10.54 ~ 26.14 148.04| 3m%x#8% 5| 25.00 ~ 26.14| 3.08 16.50
s 1.00] 3.02 ~ 10.81 100.00f Z=hl4t | 0.15 ~ 10.81| 3.00 16.05 s 1.00f 5.00 ~ 10.54 100.00f Zhl4t+ | 5.00 ~ 25.00( 3.00 16.05
7 100kN/m##8 %% 1.00{0.00 ~ 2.78 143.87|3m%x# %%/ 0.00 ~ 0.72 3.47 18.59| 100kN/m#%#8 2% 1.00{ 1215 ~ 26.77 143.87| 3m%x#8% 5| 20.00 ~ 26.77| 3.47 18.59
s 1.00] 2.78 ~ 10.56 100.00f Z=h k4t |0.72 ~ 10.56| 3.00 16.05 st 1.00f 500 ~ 12.15 100.00f Z=hl4t+ | 5.00 ~ 20.00f 3.00 16.05
8 100kN/m##8 %% 1.00{0.00 ~ 3.17 150.61|3m#*x# %% 0.00 ~ 0.23| 3.13 16.73| 100kN/m#%#B 2% 1.00{ 10.59 ~ 27.55 150.61|3m%x#8% %] 25.00 ~ 27.55| 3.13 16.73
s 1.00{ 3.17 ~ 10.95 100.00f Z=h k9t |0.23 ~ 10.95| 3.00 16.05 st 1.00f 5.00 ~ 10.59 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
9 100kN/m##8 %% 1.00{0.00 ~ 2.63 141.44|3m%EF#BZ 5 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.61 ~ 22.01 141.44| 3m%EF{B25 =l ~ - - =
s 1.00| 2.63 ~ 1042 100.00f Z=hkist | 0.00 ~ 10.42| 2.79 14.93 s 1.00f 5.00 ~ 10.61 100.00f Zhl4t | 5.00 ~ 22.01| 2.79 14.93
10 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
Fhst -l -~ = -| Fhiist -~ = = = FhLst = -~ = -| Fhiist -~ = = =
» 100kN/mM%#BZ 5 -l -~ = -|3mEBZ S -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
Fhst -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
12 100kN/mM%#BZ % -l -~ = -|3mEBZ 5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
Fhst -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Fhiist -~ = = =
13 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
Fhst -l -~ = -| Fhiist -~ = = = st = -~ = -| Fhiist -~ = = =
14 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ B -~ = = =
Fhst -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImEBZD ~
Fhst ~ ZFhLst ~ st ~ ZFhLst ~
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